A= m\'\‘m N

R .
A= QO t v wamuﬂﬂ
\‘ G(\ XJ_ r= (e (05 dect)

Y e — ~y— i S et et et S— . — a—

‘ ving for Outcome ' Exponential rowth QHQ_QQ(_‘:Q!
Example 1: The population of a small town in North Caroling is 4,000 and is growing at a rate of 3% per year.
Q) Wiite an exponential function to reprasent b)  Whaot will the pepulation of the tow
inis aatQ, veaors?

\ = U000 (1 ¢ 0.62) = 4600 (. 03y
1= ©370 peoples
ExXampie 2: Jomes purchased a truck for 529,500, The value of the truck depreciates by 12% per year,

O) Write an exponential function o represant t‘) What will be 1he vaiue of the truck 8‘/9@ 3
this gata. after the purphose"
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You Tryl A computer engineer creates a soffware program worth $28,000. If the program depreciales atl 35% each YQQ?
NOW Much money will the program be worih in 4 years? Write :_)rxj solve an exponential function that represents this datas

Q5006 (B, 88)?
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Solving for Rate (r): HIV in the United States (All information obiained irom www.cdc.gov)

Exo:nple 3: In 1981, the Human Immunodeficiency WUS (ﬁ' /) was discovered. In 1987, it is estimated thot 50,280 pecpie
the Unifed States were diagnosed with the Infection. In 2000, that number grew to 264,405 people within the Unitec States.

‘Given this information, find the rate of growrh for this infection. .
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le 4: Batween 1988 and 1992, the numbper of HIV patienfs who died from HIV related causes
e G’f HW relcxted deaths decreased fo 59,807. Find the rate of decay for the number of d aths
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s it fake to d@uble $1000 at an annugal .merest ra:laef&a@%‘?

. - 1660 (1+ 00025)° = \og 2
2= (\.OW3I® 10g 10632

\4532: £ 100 1.0k3S t =112 NEars

ou Try! Currently, the National Debt is estimated at about $16.69 frillion, If no more spending oceurs, Wl@ﬂg
) .YCT this number o reach $20 frillion at 4.9% Interest?
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Solving for the rate (r) given an equation:
Example 7: Does the function y=295(0.72) represent Example 8: Does the function y=0.75(3.42)' represent’

exponential growth or decay? What is the rate”? exponential growth or decay? What is the rate?
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You Try! Does the function y=12(14.36)' represent You Try! Does the function y=0.015(0.24)! represent
exponential growih or decay? What s the rate? exponential growth or decay? What is the rate?

\\’\ ~’b'\’) - \l - {‘ ,: y \& N - \ ' (N

.

Qe

PPN, smm— — . . - —— TR e e A—— 4_‘.
! ***To calculate continuously half-ife, we use the formula

n | | . time
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b) How much carbon-14 rema ﬁlv after 30 mille
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